Divisibility of expressions

(cdeTai gRT fayTsaan)




Concept:
53) 4 230" — 531430=76/ =1 () =2 GEy™)-(fy
Expression If n is odd If n is even

7= & -y)x+y)

(x+y) can't say
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on |45 What is the remainder if 1726 — 1126 is
n n— divided by 42?
% - 1726 — 11?6 & (42)@ Ranfog = |

Il A FEAT AT L\l

(x-y ) ( 7C+y) A0 b) 1 c) 13 d) 14
<|7‘|‘”><|7"") \V\Xg




n v |96 What is the remainder when we divide

o'+ 570 4+ 770 by 74?
~€—~ 9 g 5°+770 ®Y 74 ¥ H@T 2 &
(o't B0y ar ANE FAT graT 87

a) b) 1
/% d)5
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is divisible by:

® |47 For every positive integern —
2y TAF  ATHE ¥ M, 5t 4t
faerfara gem -
a)9 b) 41 c) 369 ﬁll the above

2
= 625 -256 n
[ = " 20
625-256 369 )
@s-16)(25116)
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148 The expression 26" —4%", where n is a

(2¢) - (4*)
_»odd[even

} 6“7]— Ié’ﬂ
l
SY-| 6=@

natural number is always divisible by

o 26" — 42, fquHA n & e

e g, gaen fFaa Renfaa @en?
a) 15 b) 18 c) 36 48
SARNPRe
@) -4
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g 10 lo0 M 149. (68)™ + 1 s exactly divisible by 23 whefi n)is?
=0 =1 =1 =l 68)" + 1, 23 TAsT=T & IR n:

a) Any natural number/%dd number
7) c) Even number d) Only prime number

~—>0dd, (T} L ve

6 8m+ /
x4 gn

68‘("—_@;!___@@




200 One of the factors of (8%F + 52k), where k is
an(oddnumber, is: . .
(8% 5%F) #T1 wH IS, FET k TH
& faeA|wE ¢

@2.>K+ @ 7_)& a) 86 b) 88 c) 84 /89
5 ol power odd
= 64" +25"

!
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20|. N =2% — 1 and N is exactly divisible by two

u2 [l42 numbers between 60 and 70, What is the
N = 2 B sum of those two numbers ?
N = 24;—%1191TN 60 r—rzgm F €T Q
q&aqT ELUEG) | 3T TEI3It
C)f’) ( ) & YT F4T 87
_Af128  b)256  c)64 d) 512
- ew : — . —
’ ASD & 3D h ot
LG“H )(QVH\) @%)6_ Q >6
2 €2 £5 =25¢°_ |6
M (ase-1) (@36
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202 .218 — 1is divisible by:
218 — 1 frad oS @
a)11 b) 17

c) 13 47:
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20%. Find the remainder when 111°+41215 4
1315 4+ 1415 js divided by 50?
Jd 1115 + 1215+ 1315+ 1415 &1 50 &

fenfara fraT strar & ar Ay Far S99 ?
/fo b) 1 c)24 d) 26

41241241 = 50

If n'isoddand q, b,c, ... .... z are consecutive
natural numbersthan (a™ + b™ + ¢ +. ... .....+z") is
divisible by (a+ b + c+. ... .... +2).
11
D | |




2 oY, Which of the following statement(s) is/are TRUE ?
7 1% +299 439 +4%994+5% is  exactly

divisible by 5. I 2_+g+_v|+_g—_<::)
3_111 > 1_714- + .
' ﬁmﬁﬁaﬁ#mw@waw%@;h
2| M I 19° 4299 4399 4499 4 599 , O q
ot "[_’_ e 3
] 1Y . 3111 > 1714
32 ‘6 JOnIyI b) only Il
N \Y c) Neither I nor I d) Bothland Il
5
@ @)

1'5':) ¢ ;25'6
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05. 237 + 24° +25° + 26 is divisible by:
23°+24°+ 252 + 26 AT A @ PR s £ 2

) 4 but not by 49 b) 49 but not by 4
/ﬁaoth 4 and 49 )k[ neither by 4 nor by 49
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v o/

I56=7

@/

206. 131°- 715~ 61° is always divisible by:
1315-715_ 615 ffRaa w7 & fsnfaa § -

1) 6 2)7 3)13 %AII the above
I) I% IS
K
l% 7]5 6|§ /
5 e ®
3 _7+6-13
‘l) | AN
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207 Given anumber, N = 55° + 17°- 725, then
5 5 5 which of the following is true?
55 4+ 17 -72 & 1§ w'Er, N=55°+17°-725, @l
fArafaf@d & @ #ia a1 93 7
= a) N is divisible by both 7 and 13
is divisible by both 3 and 17
c) Nis divisible by 17 but not 3
12- 174 85 d) N is divisible by 11 but not 17
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20%. A number 4% + 1 is divisible by x.
A_}\QUJ yg v¥ Which among the following is also
N l’l + | divisible by x?
< 50 UF WEAT 46 + 1, x ¥ freT 2
/’ : fArafaf@a sla-@ wear st x @
0
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209 Given that 220 + 1 is completely divisible
o (O by a whole number. Which of the following

407 26 | is completely divisible by the same number?
foam arar & 5 220+ 1, faelt Qo wEw
¥ qof: fasmswr 81 et & @ il @

20 20 wear 3 gEdr ¥ QUi fRsrsa gefi?
X+ | a)215 +1 b) 5 x 230
c)2°0 +1 A2 1 £°

Whele no.

20
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219. (31%2° — 1024) is not divisible by:

(312° — 1024) fFud fanfaa ad @ar &2
a)137  b)107  ¢)9 32
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21). Which of the following statement(s) is/are TRUE ?

-1 )
Highest common factor of (32092 — 1) and
A | )

U ez ! 32902 1+ 1) is4
. 3 ) 7(48* — 1) is exactly divisible by 5.
2 fmafaf@a & & sla- a8 Faa a7 ¥
o . . (32002 —1) qur (32002 +1) T HAgaH
@S'é_'!‘%\'mT : 45|#t{01'8rfa‘aﬂﬁﬁr%|
~_~ ’ only Ii
d) Bothland Il
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